1.

2-3x+1=09

o [}
2=

o, g(a) - g(B) & F27

@1 @ 3

@B ot g(x) = x3 —x? -3x+ 38+ &

3 8 @ 11 ® 13



oA 22-2x-1= 0]

2.

ol

ol

@ 2 ® 4

® 0



3. O]/ﬂ'%@ﬂﬂ—?x—lzoﬂ E—-E——%a’ﬁa]-g-q’ (1_(1)(1_ﬂ)+
(2-a)(2-B)+ -+ (5-a)(5-p) 9 ZL& F3HH?

® 50 @ 40 3 10 @ 30 ® 20



4. X2 -3x; =702, x3 -3x = 7L W, x} + x3 O] FL2?

@® 60 @ 66 ® 72 @ 84 ® 90



5.

xofl ¥t o] AP A X% + (m + 1)x +
7H o, o® 4 g7 ©f F|SgkE S (

@ o @1 3 2

(m

ot

o)
, M—

2.1

) =0°] A< a,B
Hroltt)
® 4



Ptx42=
Selzt g o
‘o

0]
,Sn+

A

52 pet

2+Sn+1+2sn

. S, =" +B"(n=
=0h, S4+S3+S2 =

12 8 A e 297



A3 tax®+b=09 AN &= a,p,yet

Fol 77

S

A4 a,boll Y

7.

@ #47} ok felsolt.



xO) WA (x—a)(x-b)—cx = 09 N7} @,pL W), x ] HAA
x—a)(x=p)+cx =09 HNE a,bE HEFHH?

D -a, —-b @ a, b ® —2a, —2b

@ 2a, 2b ® a, -b



APLAA X2+ 3x+1 =09 F &

® V5

o.pH U, Vo + VB 3

@ -5 ® ++5i



o= OIAPIAA ax® - 2ax + b = 09 0] g o] APHA A b -

10.

o gre?

1
B

o, a +

S}
=

2ax +a =09 Zo|ztL

® 2

1



°]
&

7}

WA ¥ +5x4+1=09]
FoH?

ol
o

T 19
T =

D +V3i @ V3i ® Ti

a, gt o, va + VB9

@ Vi ®o0



12, xof tigt o]i]'ac};g@u(X—p)(x—q)+a(x_q)+b(x_p) —go 12

B F ab£0.p g @, 4D =F) o o Hgme
a,B2t St ab £ 0,p £ q b(p_a)(p_ﬁ)J JobH

®—5 @—4 @_3 @_2 @_1



